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General Instructions :

Read the following instructions very carefully and strictly follow them :

(i) This question paper contains 34 questions. All questions are compulsory.
(it)  Marks are indicated against each question.

(iti) Answers should be brief and to the point.

(iv) Answers to questions carrying 3 marks may be from 50 to 75 words.

(v)  Answers to questions carrying 4 marks may be in about 150 words.

(vi) Answers to questions carrying 6 marks may be in about 200 words.

(vii) Attempt all parts of a question together.

Questions 1 to 20 are Multiple Choice Questions (MCQs), carrying 1 mark
each. 20x1=20

1. Which of the following statements does not highlight the importance of
financial planning ?

(a) Detailed plans of action prepared under financial planning
increase waste, duplication of efforts and gaps in planning.

(b) It helps in forecasting what may happen in future under different
business situations.

(c) It provides a link between investment and financing decisions on a
continuous basis.

(d) It helps in avoiding business shocks and surprises and helps the
company in preparing for the future.

2. ‘Roma Ltd.” identified the needs of the customers for the successful
marketing of their products. This was important for making an analysis
of the available opportunities, threats, weaknesses and strengths of the
organisation and help in deciding what opportunities can best be pursued
by it.

By doing so, which of the following functions of marketing is being
performed by ‘Roma Ltd.” ?

(a)  Standardisation and grading
(b)  Product designing and development
(c) Marketing planning

(d)  Gathering and analysing market information
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3. refers to the downward transfer of authority from a

superior to a subordinate.
(a)  Organising

(b)  Decentralisation
(c) Accountability

(d)  Delegation

4, During the Covid-19 pandemic, the restaurant industry faced many
challenges. The slowdown led to huge decrease in demand. From April
2022, the effect of Covid started reducing. The economy started picking
up and a boom was noticed in the restaurant industry. As a result, larger
amount of working capital was required with increased production and

sales.

The factor affecting the working capital requirement discussed above is :
(a)  Seasonal factor

(b)  Production cycle

(c) Operating efficiency

(d)  Business cycle

5. Adapting to a change in consumer preference towards online shopping,
‘Fast-Service’ started a grocery delivery app. It is a platform that ensures
10-minute deliveries of groceries. Because of this service, ‘Fast-Service’
earned huge profit within a year. It planned to expand its operations and
decided to raise funds by directly issuing its securities to investors.

The market through which ‘Fast-Service’ has decided to raise funds for

its expansion is :

(a) Money market

(b)  Primary market
(c) Secondary market

(d) Both Primary and Secondary markets
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6. ‘Capital Market instruments are riskier both with respect to returns and

principal repayment as compared to Money Market instruments.’

This highlights the following point of difference between ‘Capital Market’
and ‘Money Market’ :

(a)  Instruments
(b)  Duration

(c) Safety

(d) Liquidity

The symbol which appears on all the ‘Elegant’ cars and which is not
utterable is known as its :

(a) Brand (b) Brand name
(¢) Brand mark (d) Trade mark
66/1/3 ~ o~~~ Page 7 P.T.O.
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‘A good physical distribution system should provide for an accurate and
speedy processing of orders in the absence of which goods will reach the
customers late or in wrong quantity.’

The component of physical distribution highlighted above is :
(a)  Warehousing (b) Order Processing
(c) Transportation (d) Inventory Control

involves a variety of programmes designed to promote or protect
a company’s image and its individual products in the eyes of the public.
(a)  Personal selling (b) Public relations
(c) Sales promotion (d) Advertising

‘Coordination integrates the efforts of different departments and at
different levels.’

Identify the characteristic of coordination highlighted in the above
statement.

(a)  Coordination ensures unity of action.

(b)  Coordination is an all pervasive function.

(c) Coordination is a deliberate function.

(d)  Coordination is the responsibility of all managers.

The process of defining and grouping the activities of the enterprise and
establishing authority relationship among them is :

(a)  Directing

(b)  Staffing

(c) Management
(d)  Organising

Which of the following are the examples of Legal Environment ?

(1) Advertisement of alcoholic beverages is prohibited

(i1))  Decrease in interest rate on loans

(iii) Increase in demand for organic foods

(iv)  Digilockers for storing documents

(v)  In 1993, the Supreme Court passed an order to close the iron
foundries around ‘Taj Mahal’ at Agra

(a) (1) and (iv)
(b) (1) and (11)
(¢) (i) and (ii1)
(d (1) and(v)
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13. Which of the following is not a step in the process of ‘Controlling’
function of management ?

(a)  Setting performance standards
(b)  Assignment of duties
(c) Taking corrective action

(d) Comparing actual performance with standards
14. StatementI: Management is multi-dimensional.

Statement II : The activities involved in managing an enterprise are
common to all organisations whether economic, social or
political.

Choose the correct option from the options given below :
(a)  Statement I is true and II is false.

(b)  Statement II is true and I is false.

(c) Both the statements are false.

(d) Both the statements are true.

15. Umang was working as a ‘Production Manager’ at ‘LG Papers Ltd.” The
company had launched new eco-friendly paper straws in the market. He
was given a target of producing 5,000 straws a day, by the General
Manager. In spite of making the employees work overtime, Umang could
not meet the target.

On investigation, it was found that the employees had not received the
right training to manufacture these eco-friendly paper straws. So the
employees were sent for special training.

The function of management which helped Umang in identifying that he
could not meet the target is :

(a)  Planning
(b)  Organising
(c) Directing
(d)  Controlling
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16. Match the various characteristics of Business environment given in
Column I with their respective explanations in Column II :

A.

(a)
(b)
(c)
(d)

Column I

Dynamic nature

Complexity

Relativity

A—(ii1), B-(1), C- (1)
A—(ii), B—(ii), C-(1)
A—(iii), B—(i), C—(ii)
A—(1), B-(i1), C—(iii)

(1)

(i1)

(iii)

Column I1

Environment is a phenomenon that is
relatively easier to understand in parts
but difficult to grasp in its totality.
Business environment differs from
country to country and even

region to region.

Business environment keeps on
changing, whether in terms of
technological improvement or shifts in

consumer preferences .

17. ‘Management has its own vocabulary of terms and concepts. Managers
need to communicate with one another with the help of a common
vocabulary for the better understanding of their work situation.’

Which characteristic of ‘Management as a Science’ is highlighted in the
above statement ?

(a)
(b)
(c)
(d)

18.

Principles based on experimentation

Systematised body of knowledge

Universal validity

Personalised application

as an element of marketing mix includes the activities that

make the firm’s products available to the target customers.

(a)
(b)
(c)
(d)

66/1/3
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Product
Price

o 2o ~2o 4

Page 13 P.T.O.



%El @couegebqtc:hcom
[=]

19. wftar U4 ghd & dg & foau wEd dea faate T | 399 @ 5
fawfe, fawm 3o w a8t off, S s 3o fou ffgea on | gfdl & iR
gfa-3NTR-g § T%E & @ T & 991 T & g AR QMR &9 # W@
BT I | I8 Yok 9% o (Y T HiTad T o1 3R Yo 9% 30 TIH W
off | Sfee o HR | w5 a1aT TET ot IR I8 T YOI &HAT b T D B @

off |
S faafe # o yey o figra o1 STdTeH 81 @1 o1, 98 o ¢
(a)  GHAT
(b)  AJ=MEA
(¢c)  II&AT
(d)  9&d-&AdT

20. VAhH Taffes’ o794 At gl I YWEU T HIAEh aleh d T
T 3 | I8 SHIHE hl ANTAl bl G A R FRGHT bl IoW o folw, qaied @y
T L W B | 319 HE o7ud fasha orad, doit fiem, =i 1 e
qon Icurel ht e # oft gfg =t 7 |
T hleh Jae 394 FAfiRad 3233l <l 9Ted ST =8dT @

(a)  Sffad &
(b)y ™

(¢) SRR
d) fowE

21. (%) () Soweie &9 H gfayfadi ol W@ i ufshan w1 9 G |
(i)  GgT IR & fehegl g1 Ifqurfi=t & T i |
(iii) 37 FEUERI 1 9 G S Fiafat i Seagiee €9 H W@d
2 | 3
HAYAT
(@) o st guTfad & e gl o9 SieRt 1 Seai@ i | 3

66/1/3 ~ o~~~ Page 14



2 ™ collegebatch.com
[=

19. Sangeeta visited ‘Smile Dental Clinic’ for treatment of toothache. She
observed that the receptionist was seated at the reception desk, the place
fixed for her. Dental instruments were laid neatly in dental instrument
trays and the used instruments were placed in the sterilisation area.
There was a fixed place for everything and it was present there. There
was no hindrance in the work of the dentist and she was working with
her maximum efficiency.

The principle of management followed at the ‘Smile Dental Clinic’ was :
(a) Equity

(b)  Discipline

(c) Order

(d) Initiative

20. ‘Alfanzo Ltd. is achieving all its objectives in an effective and efficient
manner. It is earning enough revenue to cover costs and the risks of the
business. Now the company wants to increase the sales volume, the
capital investment, the number of employees and the number of products
also.

By doing this, the management wants to achieve its following objective :

(a) Survival

(b)  Profit
(c) Personal
(d)  Growth
21. (a) @) Name the process of holding securities in an electronic form.

(ii) Name any two participants of Money Market.

(iii) Name the depositories that hold securities in electronic

form. 3

OR
(b)  State any three factors affecting the dividend decision. 3

66/1/3 ~a~~ Page 15 P.T.O.



%El @CO"GQEbGl‘.Chcom
[=]

22. fTaw ‘Torgm Ten fafies’ 1 gd SRferl ARSI § | <8R &1 9e™ g1
% HROT, Tede I 10,000 T I Teh Afdicd ¢y e Seeht qfd 3@ @
& 3t Al off | SR T AU @A & HRl, I8 3H AR bl @I TRl
TTEAT o7 | 7q: 394 G SRR T 1 ol I Hloh A& i JTed i 1
faofar foren | sEm wtgw < wiftq o oft i @ feTt & 37w smew it ofd i
Afehd @ HE-IITAIT T HH HH & RO IHeh! IcUTEH ANTd AT 3cdTe
ATTA § 31ferek off |

3T ITee U ddd Y99 hl g SAYUNUMST Sl TgdAi-U T 3Tl AY

AT | 3

23. ‘s fomiw ufspan 1 TRt fafmse st st fsaifed s o fo =it
AR, SIvdl T@ Ararsti Sl §e™1 Jdl g | I8 kAT H@ied i i

JhR & AT hidl @ |

29 YfhAT ¥ G ! 314 91 fohral diF ATHl 1 Soi hIfT | 3

24. (&) e 6 F=fafaa fafe=t < owemy . 3
i)  JehIs3 Tfsreror
(i)  EAHeg Tfvreo
YT

(@) udf & e |l & fogl o9 ol o6t gaes | 3

25. ‘Twm fAfeE 9 T 4,00,000, 14% KUY U6 T 60 Tcdsh o 10,000 THAT 37300
1 T T | S99 U9 oK § g4 39 T o aRuomaseEd T 2,00,000 1 IG
Y B | B 50% ot |

(%) ‘THd TAmes i Faw W T@R a1 Wi 379 3 hl AT HifT |

(@) R AfEd Ieoi@ hirT foh IuYh IqTE0T 3TRe foiid Il 1 & o
et foxftar It &1 | 4

66/1/3 ~~~~ Page 16



23.

24.

25.

66/1/3 ~a~~ Page 17 P.T.O.

@2 collegebaitch con

Hitesh is the Chief Executive Officer of ‘Kids Garments Ltd.” Due to
festive season, Hitesh got an additional order of 10,000 garments which
he had to supply within two days. Due to his goodwill in the market, he
did not want to lose the order. So, he decided to achieve the target by
operating on double shifts. He achieved the target and supplied the order
within two days. But due to double shifts, his cost of production was

higher than the regular production cost.

Identify and give the meaning of the two concepts of management

discussed in the above para.

‘The attitudes, skills and abilities of employees to perform specific jobs
are increased by adopting a specific process.” This process benefits the

organisation in many ways.

State any three benefits of this process to the organisation.

(a)  Explain the following methods of training :

(1) Vestibule training
(i1))  Internship training

OR

(b)  Explain any three advantages of external sources of recruitment.

X Ltd.” issued 14% Debentures of ¥ 4,00,000 and 10,000 Equity shares of
T 60 each. This investment resulted in a net profit of ¥ 2,00,000 before

interest and tax. The tax rate was 50%.

(a)  Calculate the ‘Return on Investment’ and ‘Earning per Share’ of
X Ltd.’

(b)  State with reason whether the above example is that of favourable

or unfavourable financial leverage.
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T Bd 8 | 4

28. ‘el TS 7 379+ HHSTNAT Sl STHR oI § HH oI W T hl ST
fepa |

(%) =t gro feu o sihies /dicaTed i ugaH shife qen Iuth afdd
TICETE o JehR o1 St iU |

(@) 3 (F) H IgH T TIcdTed & TR H ¥ gl 31 JchTeHl hl Ieaid
HItT | 4
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Nitya is a student of class XII of a well-known school. She has a
preconceived notion that her teacher always finds fault in her work. One
day while checking the project work of class XII, her teacher wanted to
appreciate Nitya for her hard work and good performance, but before she
could complete her sentence, Nitya left the room without listening to her

teacher.

(a) Identify the ‘barrier to communication’ and also the type/category

of barrier to which it is related.

(b)  Explain two other communication barriers of the type/category

identified in (a) above. 4

Identify and give the meaning of the concepts highlighted in the following

statements :
(a)  The process of finding possible candidates for a job.

(b) An assessment of the number and types of human resources

necessary for the performance of various jobs.

(c) Introducing the selected employees to other employees and

familiarising them with the rules and policies of the organisation.

(d) It ensures that the organisation gets the best employees amongst

the employees available. 4

“Zeto Ltd. offers its employees shares at a price which is less than the

market price.

(a) Identify the incentive offered by the company and state the type of

incentive discussed above.

(b)  State two other incentives of the type of incentive identified in

(a) above. 4
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29. (%) wRd § Ufqyfd SR H AT g8 THA H AW H WA Y, HRA™
gfayfa wa fafme e i fafmm qen gfagfa sm &1 faa - g

HT <l guarht w78 |
3%k fohegl al frame e < foepragul St w1 Ieor@ T | 4
HAAT
(@) UH IH HI HREAA YOl HI SETIRAIST I THIGM HE AT
frefarfiad weehl o1 auesT 4

(i)  =FaE™ i Yebid
(i) = AT ohl IeTsH

30. () UMK TV & FT ANIE g ? IUNBIS o GOV H ITHITH TET0

o W& o fohwal al g2l ol ST | 4
aroran
(@) U 3uNAT o fA=ferfaa srfereprl w1 aWemsT 4

1) =T & AfTSR
(i) L& I ATDR

31. (%) a3 Yoy & F=fefaa fagat = aaems 6
() =g, 9 6 eha
() fomm, = o STt < THem
YT

o o

(@) veu % fafafea fagal s amemse . 6
(1) GHAT
(i)  3UHR W@ IR
(iii)  HHEATT hl IThar (Feer)

32. ‘gHH LW H Ty w0 3 g9 IgvAl K wiftd & fore fafim owfern
HEarE § ¥ 3fud wrarE o foawiEa s afffaa g
(%) 3 U Gefd I9Y & B i IgAH T |
(@) 3Iwh (%) § Ifdd Ja9 o HE Hl Tohral qia fORIwared &1 ea@
HIT | 6
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29. (a) Keeping in mind the emerging nature of the securities market in
India, Securities and Exchange Board of India was entrusted with
the twin task of both regulation and development of the securities

market.
State any two regulatory and two development functions of it. 4
OR
(b)  Explain the following factors affecting the working capital
requirements of an enterprise : 4
(1) Nature of business

(i1)  Availability of raw material

30. (a) What is meant by Consumer Protection ? Explain any two points of
importance of consumer protection from the consumers’ point of
view. 4

OR
(b)  Explain the following rights of a consumer : 4

(1) Right to choose
(i1)  Right to safety

31. (a) Explain the following principles of Scientific Management : 6
(1) Harmony, not Discord
(i1)  Science, not Rule of Thumb
OR
(b)  Explain the following principles of management : 6
(1) Equity
(ii)  Authority and Responsibility
(iii)  Stability of Personnel

32. ‘It involves setting objectives and developing appropriate course of action
from amongst the different alternative courses of action to achieve these
objectives.’

(a)  Identify the function of management referred above.

(b)  State any five features of the function of management identified in
(a) above. 6
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33. ‘wiicg wg O’ Ard wd fierEa % v ara $ 998 ABLE S § ¥ Th
3 | I8 THotsdl, Fweh, Hid foepe qe HivH Wra-ugdi i Th faeqa sj@an
TG Ll @ |
] TISATCH @al IUIth Jcdeh Uit o AT Teh 31T TGRS Shls
A HAT & | SHh] Yook ThTS o U Ueh YUk & [STHehl SohTs U IR
2 o 98 wred & fu Soerl & | sush Ifdics 39 SRl § U SRS
qEHMAICHE 2 Filh Tcdeh Foplg W a9 i JAH IcaTed, oM, fod, seie
&1 fasareq foran ST 2 | U 3@ YRR % GiedIcHs @< ¥ WNd d¢d! @
FIfeh Tceh 3c1G o foIq fsharmetl o1 Sretd BIdT &, oifehd I8 TSaTe Joamend
& foIU TE YR Yo Lt & FiTeh Tcdsh HATTHTRIh Shls & Traf-ad 3T T4
ANT hl ITET & Y81 ST HehelT B |

(%) ‘wied we O & WSHHS Gid i UgaM i |

(@) 3ST® (F) § IgAH T WISHCHS @d o 3 i i T & gl ol
Jeorg hifve faeht ==t 3w feafa & a8 &1 1€ R | 6

34. ‘Tgm fAfRE S &1 IUET Bl g | B 5 SR BT qa&0 fham qem van
A foh Ugial a1 Siefa i STUET TTehi ol TATGRUI-3TIRA R i STTALIHA
2 | UTEehl <l TTavershal aot fauur <t wmifes, Afaes wa witeufas dgqst =i
T H WA g, HAT 4 SRI-EIA W e dTcll R 1 Teh 1 Hige Soil |
AW | R ! IR § IqRA Sl T i TgE GHER Il adl TH=R-9=1 J
foeqa &9 | YR foRam T o1 | SR I FEAT Sl J=TNG HH q1 FGE™
a6 w6 e vEn fomam o | wem fofiee wwerdt B foh SHar & femm
1 YT HET qAT FHAHA IR T ST o T HEGHT 6 Fra-g Hl SHIC TGHT
e 7 |

() 3w feufa § srmafifed fauum gl 1 veem i @ 38 awemsT |
(@) < R Sk Y0 |TEE i TEA-T Td 3H HHEET |

() Tl Q@ = gada el o wmensy e = ‘wen fafres’ g
319 T <1 gfd o foru feopam ST wehar 7 | 6
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‘Sweets and More’ is one of India’s most popular brand for snacks and

sweets. It offers a wide range of sweets, namkeens, cookies and frozen
foods.

Its organisational structure comprises of separate business units in each
of the above categories. Each of these units have a manager responsible
for performance, having authority over the unit. Moreover, each of these
units is multi-functional as within each unit, different functions like
production, marketing, finance, etc. are performed. Though this kind of
organisational structure leads to increased cost because of duplication of
activities across products, but it provides a proper basis for performance
measurement as revenues and costs related to each of these business
units can be easily identified.

(a)  Identify the organisational structure of ‘Sweets and More’.

(b) State three advantages and two disadvantages of the
organisational structure identified in (a) above which are not
discussed in the above case.

X Ltd.” is engaged in the manufacturing of cars. The company surveyed
the market and found that customers need a car which runs on
eco-friendly fuel instead of petrol or diesel. Keeping the needs of
customers as well as social, ethical and ecological aspects of marketing in
mind, the company launched a new model of car that runs on bio-diesel.
The launch event was covered by the top news channels and newspapers.
This was done to disseminate information about the car and build
goodwill of the business. X Ltd.” understands that it is imperative to
manage public opinion and company’s relations with the public on a
regular basis.

(a) Identify and explain the marketing philosophy involved in the
above case.

(b)  Identify and explain the communication tool that was used by the

company.

(c) Explain any two other promotional tools that can be used by
X Ltd.” to achieve its objectives.
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